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Section-B

(Short Answer Questions)

Note: Answer any 4 questions. Each answer should not

exceed 100 words. Each question carries 8 marks.
4x8=32

Discuss the utility and importance of financial
statements for the various parties interested in a
business concern.

What are the advantages of ratio analysis?

What do you mean by 'Economic order quantity'? How
is it determined?

What is Baumol Model of Cash Management?
Explain the concept "Cost of retained earnings".
Explain various type of dividend.

What is the difference between favorable &
unfavorable financial leverage?

How does the cost of capital behave with leverage
under traditional and M M approach?

(2)

Section-C

(Long Answer Questions)

Note: Answer any two questions. You have to delimit your

10.

1.

12,

answer maximum upto 800 words. Each question
carries 16 marks. 2x16=32

Vimal Ltd. issued 50,000, 12% preference share of
Rs. 100 each at 10% premium. The cost of issue was
Rs. 4 per share. These share are redeemable at par
after 6 year from date of issue. Corporate tax rate
applicable to this company is 35%. Compute pre and
post tax cost of preferance shares.

X Ltd. earns Rs. 10 per share is capitalized at 10%
and has a return on investment of 15% formula,
determine - (1) the optimum payout (2) the price of
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A company has sales of Rs. 2,00,000. The variable
costs are 40% of the sales and fixed operating
expenses are amount to Rs. 60,000. The amount of
interest on long term loan is Rs. 20,000.

You are required to calculate the operating leverage

and composite leverage.

(3)



